# Multiply by 1000 (A)

Find each product.

$$8 \times 1,000 =$$

$$6.99 \times 1,000 =$$

$$4.5047 \times 1,000 =$$

$$5.9005 \times 1,000 =$$

$$4.9547 \times 1,000 =$$

$$7.977 \times 1,000 =$$

$$3.6 \times 1,000 =$$

$$5.3 \times 1,000 =$$

$$4.984 \times 1,000 =$$

$$1.9016 \times 1,000 =$$

$$6.49 \times 1,000 =$$

$$0.3955 \times 1,000 =$$

$$5.9 \times 1,000 =$$

$$0.8 \times 1,000 =$$

$$2 \times 1,000 =$$

$$9.6632 \times 1,000 =$$

$$1.2 \times 1,000 =$$

$$3.25 \times 1,000 =$$

$$7.313 \times 1,000 =$$

$$7.8 \times 1,000 =$$

#### Multiply by 1000 (A) Answers

Find each product.

$$8 \times 1,000 = 8,000$$

$$6.99 \times 1,000 = 6,990$$

$$4.5047 \times 1,000 = 4,504.7$$

$$5.9005 \times 1,000 = 5,900.5$$

$$4.9547 \times 1,000 = 4,954.7$$

$$7.977 \times 1,000 = 7,977$$

$$3.6 \times 1,000 = 3,600$$

$$5.3 \times 1,000 = 5,300$$

$$4.984 \times 1,000 = 4,984$$

$$1.9016 \times 1,000 = 1,901.6$$

$$6.49 \times 1,000 = 6.490$$

$$0.3955 \times 1,000 = 395.5$$

$$5.9 \times 1,000 = 5,900$$

$$0.8 \times 1,000 = 800$$

$$2 \times 1,000 = 2,000$$

$$9.6632 \times 1,000 = 9,663.2$$

$$1.2 \times 1,000 = 1,200$$

$$3.25 \times 1,000 = 3,250$$

$$7.313 \times 1,000 = 7,313$$

$$7.8 \times 1,000 = 7,800$$

# Multiply by 1000 (B)

Find each product.

$$1.6218 \times 1,000 =$$

$$5.4705 \times 1,000 =$$

$$9.2247 \times 1,000 =$$

$$1.8 \times 1,000 =$$

$$0.9 \times 1,000 =$$

$$6.91 \times 1,000 =$$

$$6.33 \times 1,000 =$$

$$4.6592 \times 1,000 =$$

$$5.146 \times 1,000 =$$

$$2.0528 \times 1,000 =$$

$$2.79 \times 1.000 =$$

$$3.72 \times 1,000 =$$

$$2.263 \times 1,000 =$$

$$5.5 \times 1,000 =$$

$$1.72 \times 1,000 =$$

$$6.05 \times 1,000 =$$

$$9.63 \times 1,000 =$$

$$7.461 \times 1,000 =$$

$$4.6125 \times 1,000 =$$

$$2.971 \times 1,000 =$$

#### Multiply by 1000 (B) Answers

Find each product.

$$1.6218 \times 1,000 = 1,621.8$$

$$5.4705 \times 1,000 = 5,470.5$$

$$9.2247 \times 1,000 = 9,224.7$$

$$1.8 \times 1,000 = 1,800$$

$$0.9 \times 1,000 = 900$$

$$6.91 \times 1,000 = 6,910$$

$$6.33 \times 1,000 = 6,330$$

$$4.6592 \times 1,000 = 4,659.2$$

$$5.146 \times 1,000 = 5,146$$

$$2.0528 \times 1,000 = 2,052.8$$

$$2.79 \times 1,000 = 2,790$$

$$3.72 \times 1,000 = 3,720$$

$$2.263 \times 1,000 = 2,263$$

$$5.5 \times 1,000 = 5,500$$

$$1.72 \times 1,000 = 1,720$$

$$6.05 \times 1,000 = 6,050$$

$$9.63 \times 1,000 = 9,630$$

$$7.461 \times 1,000 = 7,461$$

$$4.6125 \times 1,000 = 4,612.5$$

$$2.971 \times 1,000 = 2,971$$

# Multiply by 1000 (C)

Find each product.

$$3.4 \times 1,000 =$$

$$2.9236 \times 1,000 =$$

$$7.7673 \times 1,000 =$$

$$0.7 \times 1,000 =$$

$$0 \times 1,000 =$$

$$0.729 \times 1,000 =$$

$$1.46 \times 1,000 =$$

$$1.5458 \times 1,000 =$$

$$8.2 \times 1,000 =$$

$$3.27 \times 1,000 =$$

$$6.8 \times 1,000 =$$

$$5.11 \times 1,000 =$$

$$5.95 \times 1,000 =$$

$$1.45 \times 1,000 =$$

$$4.333 \times 1,000 =$$

$$2.5 \times 1,000 =$$

$$5.72 \times 1,000 =$$

$$1.768 \times 1,000 =$$

$$4.1 \times 1,000 =$$

$$9.33 \times 1,000 =$$

#### Multiply by 1000 (C) Answers

Find each product.

$$3.4 \times 1,000 = 3,400$$

$$2.9236 \times 1,000 = 2,923.6$$

$$7.7673 \times 1,000 = 7,767.3$$

$$0.7 \times 1,000 = 700$$

$$0 \times 1,000 = 0$$

$$0.729 \times 1,000 = 729$$

$$1.46 \times 1,000 = 1,460$$

$$1.5458 \times 1,000 = 1,545.8$$

$$8.2 \times 1,000 = 8,200$$

$$3.27 \times 1,000 = 3,270$$

$$6.8 \times 1,000 = 6,800$$

$$5.11 \times 1,000 = 5,110$$

$$5.95 \times 1,000 = 5,950$$

$$1.45 \times 1,000 = 1,450$$

$$4.333 \times 1,000 = 4,333$$

$$2.5 \times 1,000 = 2,500$$

$$5.72 \times 1,000 = 5,720$$

$$1.768 \times 1,000 = 1,768$$

$$4.1 \times 1,000 = 4,100$$

$$9.33 \times 1,000 = 9,330$$

# Multiply by 1000 (D)

Find each product.

$$1.97 \times 1,000 =$$

$$5.351 \times 1,000 =$$

$$6.3389 \times 1,000 =$$

$$5.4 \times 1,000 =$$

$$8.3543 \times 1,000 =$$

$$2.1 \times 1,000 =$$

$$6.66 \times 1,000 =$$

$$6.741 \times 1,000 =$$

$$8.7698 \times 1,000 =$$

$$1.941 \times 1,000 =$$

$$6.2 \times 1,000 =$$

$$1.6173 \times 1,000 =$$

$$3.927 \times 1,000 =$$

$$7.474 \times 1,000 =$$

$$3.2 \times 1,000 =$$

$$4.8 \times 1,000 =$$

$$5.6635 \times 1,000 =$$

$$5.357 \times 1,000 =$$

$$9.7498 \times 1,000 =$$

$$7.39 \times 1,000 =$$

#### Multiply by 1000 (D) Answers

Find each product.

$$1.97 \times 1,000 = 1,970$$

$$5.351 \times 1,000 = 5,351$$

$$6.3389 \times 1,000 = 6,338.9$$

$$5.4 \times 1,000 = 5,400$$

$$8.3543 \times 1,000 = 8,354.3$$

$$2.1 \times 1,000 = 2,100$$

$$6.66 \times 1,000 = 6,660$$

$$6.741 \times 1,000 = 6,741$$

$$8.7698 \times 1,000 = 8,769.8$$

$$1.941 \times 1,000 = 1,941$$

$$6.2 \times 1,000 = 6,200$$

$$1.6173 \times 1,000 = 1,617.3$$

$$3.927 \times 1,000 = 3,927$$

$$7.474 \times 1,000 = 7,474$$

$$3.2 \times 1,000 = 3,200$$

$$4.8 \times 1,000 = 4,800$$

$$5.6635 \times 1,000 = 5,663.5$$

$$5.357 \times 1,000 = 5,357$$

$$9.7498 \times 1,000 = 9,749.8$$

$$7.39 \times 1,000 = 7,390$$

# Multiply by 1000 (E)

Find each product.

$$4.952 \times 1,000 =$$

$$0.999 \times 1,000 =$$

$$9.157 \times 1,000 =$$

$$1.6 \times 1,000 =$$

$$5.927 \times 1,000 =$$

$$7.2 \times 1,000 =$$

$$3 \times 1,000 =$$

$$3.07 \times 1,000 =$$

$$4.7 \times 1,000 =$$

$$6.15 \times 1,000 =$$

$$6.8 \times 1,000 =$$

$$2 \times 1,000 =$$

$$0.654 \times 1,000 =$$

$$5.9 \times 1,000 =$$

$$2.4 \times 1,000 =$$

$$3.4286 \times 1,000 =$$

$$9.11 \times 1,000 =$$

$$8.68 \times 1,000 =$$

$$4.9 \times 1,000 =$$

$$5.1 \times 1,000 =$$

#### Multiply by 1000 (E) Answers

Find each product.

$$4.952 \times 1,000 = 4,952$$

$$0.999 \times 1,000 = 999$$

$$9.157 \times 1,000 = 9,157$$

$$1.6 \times 1,000 = 1,600$$

$$5.927 \times 1,000 = 5,927$$

$$7.2 \times 1,000 = 7,200$$

$$3 \times 1,000 = 3,000$$

$$3.07 \times 1,000 = 3,070$$

$$4.7 \times 1,000 = 4,700$$

$$6.15 \times 1,000 = 6,150$$

$$6.8 \times 1,000 = 6,800$$

$$2 \times 1,000 = 2,000$$

$$0.654 \times 1,000 = 654$$

$$5.9 \times 1,000 = 5,900$$

$$2.4 \times 1,000 = 2,400$$

$$3.4286 \times 1,000 = 3,428.6$$

$$9.11 \times 1,000 = 9,110$$

$$8.68 \times 1,000 = 8,680$$

$$4.9 \times 1,000 = 4,900$$

$$5.1 \times 1,000 = 5,100$$

# Multiply by 1000 (F)

Find each product.

$$3.2 \times 1,000 =$$

$$9.5487 \times 1,000 =$$

$$5.4018 \times 1,000 =$$

$$5.5909 \times 1,000 =$$

$$5.7 \times 1,000 =$$

$$9.8757 \times 1,000 =$$

$$9.6 \times 1,000 =$$

$$2.803 \times 1,000 =$$

$$9.694 \times 1,000 =$$

$$5.1 \times 1,000 =$$

$$0.03 \times 1,000 =$$

$$5.002 \times 1,000 =$$

$$6.9 \times 1,000 =$$

$$0.9472 \times 1,000 =$$

$$0.5156 \times 1,000 =$$

$$9.55 \times 1,000 =$$

$$5 \times 1,000 =$$

$$3.45 \times 1,000 =$$

$$7.5831 \times 1,000 =$$

$$8.515 \times 1,000 =$$

#### Multiply by 1000 (F) Answers

Find each product.

$$3.2 \times 1,000 = 3,200$$

$$9.5487 \times 1,000 = 9,548.7$$

$$5.4018 \times 1,000 = 5,401.8$$

$$5.5909 \times 1,000 = 5,590.9$$

$$5.7 \times 1,000 = 5,700$$

$$9.8757 \times 1,000 = 9,875.7$$

$$9.6 \times 1,000 = 9,600$$

$$2.803 \times 1,000 = 2,803$$

$$9.694 \times 1,000 = 9,694$$

$$5.1 \times 1,000 = 5,100$$

$$0.03 \times 1,000 = 30$$

$$5.002 \times 1,000 = 5,002$$

$$6.9 \times 1,000 = 6,900$$

$$0.9472 \times 1,000 = 947.2$$

$$0.5156 \times 1,000 = 515.6$$

$$9.55 \times 1,000 = 9,550$$

$$5 \times 1,000 = 5,000$$

$$3.45 \times 1,000 = 3,450$$

$$7.5831 \times 1,000 = 7,583.1$$

$$8.515 \times 1,000 = 8,515$$

# Multiply by 1000 (G)

Find each product.

$$6.5842 \times 1,000 =$$

$$0.5 \times 1,000 =$$

$$6.195 \times 1,000 =$$

$$2.1869 \times 1,000 =$$

$$6.1009 \times 1,000 =$$

$$9.2 \times 1,000 =$$

$$6.23 \times 1,000 =$$

$$9.608 \times 1,000 =$$

$$6.9 \times 1,000 =$$

$$7.3 \times 1,000 =$$

$$4.6233 \times 1,000 =$$

$$3.519 \times 1,000 =$$

$$1.2429 \times 1,000 =$$

$$2.19 \times 1,000 =$$

$$8.6 \times 1,000 =$$

$$1.7 \times 1,000 =$$

$$0.741 \times 1,000 =$$

$$7.72 \times 1,000 =$$

$$3.88 \times 1,000 =$$

$$0.29 \times 1,000 =$$

#### Multiply by 1000 (G) Answers

Find each product.

$$6.5842 \times 1,000 = 6,584.2$$

$$0.5 \times 1,000 = 500$$

$$6.195 \times 1,000 = 6,195$$

$$2.1869 \times 1,000 = 2,186.9$$

$$6.1009 \times 1,000 = 6,100.9$$

$$9.2 \times 1,000 = 9,200$$

$$6.23 \times 1,000 = 6,230$$

$$9.608 \times 1,000 = 9,608$$

$$6.9 \times 1,000 = 6,900$$

$$7.3 \times 1,000 = 7,300$$

$$4.6233 \times 1,000 = 4,623.3$$

$$3.519 \times 1,000 = 3,519$$

$$1.2429 \times 1,000 = 1,242.9$$

$$2.19 \times 1,000 = 2,190$$

$$8.6 \times 1,000 = 8,600$$

$$1.7 \times 1,000 = 1,700$$

$$0.741 \times 1,000 = 741$$

$$7.72 \times 1,000 = 7,720$$

$$3.88 \times 1,000 = 3,880$$

$$0.29 \times 1,000 = 290$$

#### Multiply by 1000 (H)

Find each product.

$$5.1 \times 1,000 =$$

$$6.309 \times 1,000 =$$

$$1.3 \times 1,000 =$$

$$3.7124 \times 1,000 =$$

$$9.4609 \times 1,000 =$$

$$1.9152 \times 1,000 =$$

$$3.6 \times 1,000 =$$

$$1.21 \times 1,000 =$$

$$2.9 \times 1,000 =$$

$$4.2 \times 1,000 =$$

$$9.0889 \times 1,000 =$$

$$6.4766 \times 1,000 =$$

$$0.5 \times 1,000 =$$

$$5.6 \times 1,000 =$$

$$7.4643 \times 1,000 =$$

$$2 \times 1,000 =$$

$$9.3 \times 1,000 =$$

$$1.3 \times 1,000 =$$

$$3.6491 \times 1,000 =$$

$$7.6 \times 1,000 =$$

# Multiply by 1000 (H) Answers

Find each product.

$$5.1 \times 1,000 = 5,100$$

$$6.309 \times 1,000 = 6,309$$

$$1.3 \times 1,000 = 1,300$$

$$3.7124 \times 1,000 = 3,712.4$$

$$9.4609 \times 1,000 = 9,460.9$$

$$1.9152 \times 1,000 = 1,915.2$$

$$3.6 \times 1,000 = 3,600$$

$$1.21 \times 1,000 = 1,210$$

$$2.9 \times 1,000 = 2,900$$

$$4.2 \times 1,000 = 4,200$$

$$9.0889 \times 1,000 = 9,088.9$$

$$6.4766 \times 1,000 = 6,476.6$$

$$0.5 \times 1,000 = 500$$

$$5.6 \times 1,000 = 5,600$$

$$7.4643 \times 1,000 = 7,464.3$$

$$2 \times 1,000 = 2,000$$

$$9.3 \times 1,000 = 9,300$$

$$1.3 \times 1,000 = 1,300$$

$$3.6491 \times 1,000 = 3,649.1$$

$$7.6 \times 1,000 = 7,600$$

# Multiply by 1000 (I)

Find each product.

$$8.939 \times 1,000 =$$

$$9.451 \times 1,000 =$$

$$0.1 \times 1,000 =$$

$$4.1 \times 1,000 =$$

$$9.9 \times 1,000 =$$

$$9.5 \times 1,000 =$$

$$3.736 \times 1,000 =$$

$$8.3 \times 1,000 =$$

$$3.6343 \times 1,000 =$$

$$1.91 \times 1,000 =$$

$$9.4 \times 1,000 =$$

$$1.255 \times 1,000 =$$

$$9.155 \times 1,000 =$$

$$6.87 \times 1,000 =$$

$$7.653 \times 1,000 =$$

$$0.386 \times 1,000 =$$

$$4.4067 \times 1,000 =$$

$$8.9812 \times 1,000 =$$

$$2.8 \times 1,000 =$$

$$5.84 \times 1,000 =$$

#### Multiply by 1000 (I) Answers

Find each product.

$$8.939 \times 1,000 = 8,939$$

$$9.451 \times 1,000 = 9,451$$

$$0.1 \times 1,000 = 100$$

$$4.1 \times 1,000 = 4,100$$

$$9.9 \times 1,000 = 9,900$$

$$9.5 \times 1,000 = 9,500$$

$$3.736 \times 1,000 = 3,736$$

$$8.3 \times 1,000 = 8,300$$

$$3.6343 \times 1,000 = 3,634.3$$

$$1.91 \times 1,000 = 1,910$$

$$9.4 \times 1,000 = 9,400$$

$$1.255 \times 1,000 = 1,255$$

$$9.155 \times 1,000 = 9,155$$

$$6.87 \times 1,000 = 6,870$$

$$7.653 \times 1,000 = 7,653$$

$$0.386 \times 1,000 = 386$$

$$4.4067 \times 1,000 = 4,406.7$$

$$8.9812 \times 1,000 = 8,981.2$$

$$2.8 \times 1,000 = 2,800$$

$$5.84 \times 1,000 = 5,840$$

# Multiply by 1000 (J)

Find each product.

$$7.5569 \times 1,000 =$$

$$9.878 \times 1,000 =$$

$$1.6022 \times 1,000 =$$

$$5 \times 1,000 =$$

$$2.4988 \times 1,000 =$$

$$9.5 \times 1,000 =$$

$$7.259 \times 1,000 =$$

$$5.15 \times 1,000 =$$

$$1.7 \times 1,000 =$$

$$6.1 \times 1,000 =$$

$$0.59 \times 1,000 =$$

$$2.6 \times 1,000 =$$

$$1.79 \times 1,000 =$$

$$5.8395 \times 1,000 =$$

$$1.3 \times 1,000 =$$

$$0.1 \times 1,000 =$$

$$8.6 \times 1,000 =$$

$$9.1 \times 1,000 =$$

$$6.021 \times 1,000 =$$

$$5.3921 \times 1,000 =$$

#### Multiply by 1000 (J) Answers

Find each product.

$$7.5569 \times 1,000 = 7,556.9$$

$$9.878 \times 1,000 = 9,878$$

$$1.6022 \times 1,000 = 1,602.2$$

$$5 \times 1,000 = 5,000$$

$$2.4988 \times 1,000 = 2,498.8$$

$$9.5 \times 1,000 = 9,500$$

$$7.259 \times 1,000 = 7,259$$

$$5.15 \times 1,000 = 5,150$$

$$1.7 \times 1,000 = 1,700$$

$$6.1 \times 1,000 = 6,100$$

$$0.59 \times 1,000 = 590$$

$$2.6 \times 1,000 = 2,600$$

$$1.79 \times 1,000 = 1,790$$

$$5.8395 \times 1,000 = 5,839.5$$

$$1.3 \times 1,000 = 1,300$$

$$0.1 \times 1,000 = 100$$

$$8.6 \times 1,000 = 8,600$$

$$9.1 \times 1,000 = 9,100$$

$$6.021 \times 1,000 = 6,021$$

$$5.3921 \times 1,000 = 5,392.1$$